A JACTECH PROFILE

Jacktech Hydraulic is today a nationwide leader in the manufacturer of Hy-
draulic Fittings, Accessories, Power pack, Cylinder catering almost all leading
Machine Tools Manufacturers, Earthmoving Machinery Automobile industries,
Textile Machinery, Plastic Machinery, Pharmaceutical and Steel Plants. Founded
in 1997, by a team of dedicate technocrats, it has always grown in leaps and bounds,
and has won the esteem of all the customers. In attaining this goal, the Company’s
objectives of meeting the customer’s increasing expectations for Quality, Deliv-
ery and Values, were never compromised.

The company has established a very good in house training, Design, manu-
facturing, inspection and testing facility, well equipped with latest equipment to
maintain high quality standards. (Customer satisfaction) The company has over
2500 catalogue items, besides the product range of shut off valves, needles valves,
direct acting pressure relief valves, modular valves, pipe clamps and SEA flange.

The company also doing Hose creeping on R1, R2, R12, and R13 hose pipe, with

connection in BSP and metric size, the company has setup a coordinated and effi-
cient distributor network all over county.

W JACKTECH HYDRAULICS

website : jacktechhyd.com E-mail : info@jacktechhyd.com, sales@jacktechhyd.com

Final_ Proof....



JT0]

TUBE SELECTION CHART

3. AFLOW VELOCITY
OF 10 fps WILL RESULT

— 100
L 90 BASED ON FORMULA
20000—1- ___ _GPM-0320
n 80 AREA (SQ. IN) = L oCITY (FT/SEC)
—E—70
+—60
T 1. IF THE LINE MUST
7 HANDLE 14 gsm.
10000—_
9000 —
8000 — - —E 20
7000 — —4, —E 15
___ —4 —F 2. AND A LINE WITH
6000 —] = Y INCH I. D. IS USED
5000 —
4000
3000 —
2000 —3
. : MAXIMUM
- 5 RECOMMENDED VELOCITY
] - FOR
1000 —___ 4 V2 sg=—— INTAKE LINES
200 — 9/16—f—
800 — 3/8 2=
700 —f 3 70—~
600 —__:_ 14 3/8 —~ .
I se—— & 2
-] —— 06
2 400 — V8 —z 05 O
= 7 04 |
- En i o
— b .
o 30— o & € MAxiMUM
< — v =D —— 02 O RECOMMENDED
I 41 uw a = &£ VELOCITY FOR ®
9 200 —| o ZZ — w PRSSURE LINES
= - Z g8, v o %
o o4 7159 ZUZ, — 0% F
@ - J Ssz<d — 008 W
2 - g b 2us L 007 &
Z W O ol
© - Oy o =zz —— 006 &
! - = <ZE = A= [ 00555
= T—05 22 T35 . 004 <
O = oz 2 r u 8 - &
—_— - O
T 100 |, o3 23&¢ <

W JACKTECH HYDRAULICS

r O 00 N O

10

20

30

40

50

VELOCITY - FEET PER SECOND

website : jacktechhyd.com E-mail

Final_ Proof....

rinfo@jacktechhyd.com, sales@jacktechhyd.com




EQUAL COUPLINGS

Series Tube S1 S2 L1 11 Part No.
STRAIGHT COUPLING OD. ¥
Light 6 12 14 39 10 G 6-L
L 8 14 17 40 11 G 8-L
250 10 17 19 42 13 G 10-L
bar 12 19 22 43 14 G 12-L
15 24 27 46 16 G 15-L
160 18 27 32 18 16 G 18-L
bar 22 32 36 52 20 G 22-L

28 41 41 54 21 G 28-L

100 35 46 50 63 20 G 35-L
bar 42 55 60 66 21 G 42-L

St S2 60 80 90 106 34 G 60-S

—L Heavy 6 14 17 45 16 G 6-S

S 8 17 19 47 18 G 8-S

N v hhE == 5 630 10 19 22 49 17 G 10-S

© i | © bar 12 22 24 51 19 G 12-S

B I T & 14 24 27 57 22 G 14-S
= 'L;_ oo _\J 2

------------- 400 16 27 30 57 21 G 16-S

bar 20 32 36 66 23 G 20-S

11 ] 25 41 46 74 26 G 25-S

250 30 46 50 80 27 G 30-S

L1 bar 38 55 60 90 29 G 38-S

150 bar 48 65 75 98 32 G 48-S

EQUAL ELBOW COUPLING Series  Tube S2 S3 L2 12 Part No.
O.D. *
Light 6 14 12 27 12 W 6-L
L 8 17 14 29 14 W 8-L
250 10 19 17 30 15 W 10-L
bar 12 22 19 32 17 W12-L
15 27 22 36 21 W15-L
160 18 32 27 40 235 W18-L
bar 22 36 30 44 275 W22-L
28 41 36 47 305 W 28-L
100 35 50 46 56 345 W 35-L
S3 S2 bar 42 60 55 63 40 W42-L
j / 60 90 80 95 62  W60-S
L T o Heawy 6 17 14 31 16 W 6
TR - f 3 S 8 19 17 32 17 W 8-S
. ‘i — 1w 630 10 22 19 34 175 WI10-S
: o B 1 2 bar 12 24 22 38 215 W12-S
Pl 14 27 22 40 22 W14-S
| [ H
M 400 16 30 24 43 245 W16-S
A bar 200 36 30 48 265 W20-S
L 25 46 36 54 30  W25-S
| | ||
L/’& 250 30 50 46 62 355 W30-S
5 bar 38 60 55 72 41 W 38-S
B 150 bar 48 75 65 85 55 W 48-S
@). ]ﬁCKTECH HYDRﬁULlCS * Dimension given are approximate figures with tightened nut.
6

website : jacktechhyd.com E-mail : info@jacktechhyd.com, sales@jacktechhyd.com

Final_ Proof....



BULKHEAD COUPLINGS

STRAIGHT BULKHEAD COUPLING

Series

Light
L
250
bar

160
bar

100
bar

Heavy
S
630
bar

400
bar

250
bar

Tube M S1

O.D.
6 M12x1.5 17
8 M14x1.5 19
10 M16x1.5 22
12 M18x1.5 24
15 M22x1.5 27
18 M26x1.5 32
22 M30x2 36
28 M36x2 41
35 M45X2 50
42 M52X2 60
6 M14x1.5 19
8 MI16x1.5 22
10 M18x1.5 24
12 M20x1.5 27
14 M22x1.5 30
16 M24x1.5 32
20 M30x2 41
25  M36x2 46
30  M42x2 50
38 M52x2 65
D = 16mm Max

S2

14
17
19
22
27

32
36

41
50
60

17
19
22
24
27

30
36
46

50
60

S4

17
19
22
24
30

36
41

46
55
65

19
22
24
27
30

32
41
46

50
65

ELBOW BULKHEAD COUPLING

Series

Light
L
250
bar

160
bar

100
bar

Heavy
S
630
bar

400
bar

250
bar

Tube
O.D.

6
8
10
12
15

18
22

28
35
42

6
8
10
12
14

16
20
25

30
38

M

M12x1.5
M14x1.5
M16x1.5
M18x1.5
M22x1.5

M26x1.5
M30x2

M36x2
M45X2
M52X2

M14x1.5
M16x1.5
M18x1.5
M20x1.5
M22x1.5

M24x1.5
M30x2
M36x2

M42x2
M52x2

S2

14
17
19
22
27

32
36

41
50
60

17
19
22
24
27

30
36
46

50
60

S3

17
19
22
24
27

32
36

42
50
60

19
22
24
27
27

30
36
42

50
60

sS4

17
19
22
24
30

36
41

46
55
65

19
22
24
27
30

32
41
46

50
65

22
23
25
25
27

30
33

35
40
42

27
28
31
31
34

36
40
43

47
52

L2

*

27
29
30
32
36

40
44

47
56
63

31
32
34
38
40

43
48
54

62
72

13.5
16.5

18.5
18.5
19

12
13
14.5
14.5
16

17.5
18.5
19

20.5
21

12

12
14
15
17
21

23.5
27.5

30.5
34.5
40

16
17
17.5
21.5
22

24.5
26.5
30

35.5
41

* Dimension given are approximate figures with tightened nut.

W JACKTECH HYDRAULICS

42
42
43
44
46

49
51

52
58
59

44
44
46
47
50

50
55
59

64
68

42
42
43
44
46

49
51

52
58
59

44
44
46
47
50

50
55
59

64
68

27
27
28
29
31

325
34.5

35.5
36.5
36

29
29
29.5
30.5
32

31.5
33.5
35

37.5
37

27
27
28
29
31

32.5
34.5

35.5
36.5
36

29
29
29.5
30.5
32

315
33.5
35

37.5
37

14
17
18
20
23

24
30

34
39
43

17
18
20
21
23

24
30
34

39
43

Part No.

SV 6L
SV 8L
SVi10L
SvVi12L
SVi15L

SV18L
Sv22L

Sv28L

SV35L
Sv42L

SV 6S
SV 8S
SV10S

SvV12sSs
SV14S

R

SV16S
SV20S
SV25S

SV30S
SV38S

d2

17
19
22
24
27

32
36

42
50
60

19
22
24
27
27

30
36
42

50
60

Part No.

WSV 6L
WSV 8L
WSV 10 L
WSV 12 L
WSV 15L

WSV 18 L
WSV 22 L

WSV 28 L
WSV 35L
WSV 42 L

WSV 6S
WSV 8S
WSV 10S
WSV 12S
WSV 14 S

WSV 16 S
WSV 20S
WSV 25S

WSV 30S
WSV 38S

o
TUBE OD

L3

13

L3

— 5

L2

Final_ Proof....

website : jacktechhyd.com E-mail : info@jacktechhyd.com, sales@jacktechhyd.com




PARALLEL STUD COUPLINGS

Series  Tube S1 S2 L1 11 | d3z G Part No.
MALE STUD COUPLING oD. *

6 14 14 23 85 10 14 G/18 GE 6L X1/8
8 19 17 25 10 12 18 Gl/4 GE 8L X1/4
Light 8 22 17 26 115 12 22 G3/8 GE 8L X3/8

L 10 19 19 26 11 12 18 Gl1/4 GE10LX1/4
- 250 10 22 19 27 125 12 22 G3/8 GEI10LX3/8
N bar 12 22 22 27 125 12 22 G3/8 GE12LX3/8
3 %1 12 19 22 27 12 12 18 Gl/4 GE12LX1/4
= 15 27 27 29 14 14 26 G1/2 GE15LX1/2
\ %3‘ 160 18 27 32 31 145 14 26 G1/2 GE18LX1/2
bar 22 32 36 33 165 16 32 G3/4 GE22LX3/4
100 28 41 41 34 175 18 39 Gl GE28L X1
bar 35 50 50 39 175 20 49 Gl1/4 GE35LX11/4
42 55 60 42 19 22 55 G11/2 GE42LX11/2
60 85 90 66 30 26 84 G21/2 GE60SX21/2
6 19 17 28 13 12 18 Gl/4 GE 6SX1/4
Heavy 8 19 19 30 15 12 18 Gl/4 GE 8SX1/4
S S2 S 10 22 22 31 15 12 22 G3/8 GE10SX3/8
/ 630 12 22 24 33 17 12 22 G3/8 GE12SX3/8
bar 12 27 24 34 175 14 26 G1/2 GE12SX1/2
— e 3 14 27 27 37 19 14 26 G1/2 GE14SX1/2
I‘S) O bt i—-— -] L
° P -L——l——k’ 3 400 16 27 30 37 185 14 26 G1/2 GE16SX1/2
T e bar 20 32 36 42 205 16 32 G3/4 GE20SX3/4

25 41 46 47 23 18 39 G1 GE 255 X1

250 30 50 50 50 235 20 49 Gl11/4 GE30SX11/4
bar 38 55 60 57 26 22 55 G11/2 GE38SX11/2

150 bar 48 70 75 62 29 24 69 G2 GE48S X2
Also available with Elastomeric Seal, BSPT, Matric Series.

MALE STUD ELBOW COUPLING

Series Tube S2 S3 L2 12 I3 | d3 G Part No.
O.D.
250 bar 15 27 27 36 21 20 14 26 G1/2 WE 15L X 1/2
Light
L 18 32 27 40 235 22 14 26 G1/2 WE18LX1/2
160 bar 22 36 32 44 275 26 16 32 G3/4 WE22LX3/4

100 28 41 41 47 305 30 18 39 G1 WE 28L X 1
bar 35 50 50 56 345 34 20 49 G11/4 WE35LX11/4
42 60 556 63 40 39 22 55 G11/2 WEA42LX11/2

630 bar 14 27 27 40 22 20 14 26 G1/2 WE14SX1/2

|
D
3o
1
i
s
I
i
!
TUBE OD

- i | e Heavy 16 30 27 43 245 23 14 26 G1/2 WE16SX1/2
- Pl S 200 36 32 48 265 26 16 32 G3/4 WE20SX3/4
; — 400 25 46 41 54 30 30 18 39 G1 WE 25S X 1
— il v ; T Ii bar
: g : 250 30 50 50 62 355 355 20 49 Gl1/4 WE30SX11/4
d3e bar 38 60 55 72 41 41 22 55 G11/2 WE38SX11/2
12

* Dimension given are approximate figures with tightened nut.

L2

W JACKTECH HYDRAULICS

website : jacktechhyd.com E-mail : info@jacktechhyd.com, sales@jacktechhyd.com

10

Final_ Proof....



TAPER MALE STUD COUPLINGS

TAPER MALE STUD ELBOW

13

T
.
TUBE OD

L2

Series

Light

L

250
bar

160
bar

Heavy

S

630
bar

400
bar

Tube

O.D.

6
8
10
12
15

18

10
12
14

16

S2

14
17
19
22
27

32

17
19
22
24
27

30

TAPER MALE STUD BRANCH TEE COUPLING

13

i

TUBE OD

L2

S3

TAPER MALE STUD RUN TEE COUPLING

JUBE OD

]

-

13

S2

—
TUBE OD

L2

W JACKTECH HYDRAULICS

12
14
17
19
22

27

14
17
19
22
22

24

S3

12

Series Tube S2
O.D.
Light 6 14
L 8 17
250 10 19
bar 12 22
15 27
160 18 32
bar
Heavy 6 17
S 8 19
630 10 22
bar 12 24
14 27
400 16 30
bar
Series Tube S2
O.D.
Light 6 14
L 8 17
250 10 19
bar 12 22
15 27
160 18 32
bar
Heavy 6 17
S 8 19
400 10 22
bar 12 24
14 27
400 16 30
bar

14
17
19
22

27

14
17
19
22
22

24

S3

12
14
17
19
22

27

14
17
19
22
22

24

27
29
30
32
36

40

31
32
34
38
40

43

L2

*

27
29
30
32
36

40

31
32
34
38
40

43

27
29
30
32
36

40

31
32
34
38
40

43

12
14
15
17
21

23.5

16
17
17.5
215
22

24.5

12

12
14
15
17
21

23.5

16
17
17.5
21.5
22

24.5

12
14
15
17
21

23.5

16
17
17.5
215
22

24.5

20
26
27
28
34

36

26
27
28
28
32

32

L3

47

55
57
60
70

76

57
59
62
66
72

75

20
26
27
28
34

36

26
27
28
28
32

32

10
14
14
15
16

16

14
14
15
15
16

16

13

*

20
26
27
28
34

36

26
27
28
28
32

32

10
14
14
15
16

16

14
14
15
15
16

16

R1/8
R1/4
R1/4
R3/8
R1/2

R1/2

R1/4
R1/4
R3/8
R3/8
R1/2

R/12

Part No.

WER 6L X 1/8
WER 8L X 1/4
WER 10L X 1/4
WER 12L X 3/4
WER 15L X 1/2

WER 18L X 1/2

WER 6S X 1/4
WER 8S X 1/4
WER 10S X 3/8
WER 12S X 3/8
WER 14S X 1/2

WER 16S X 1/2

Part No.

R1/8
R1/4
R1/4
R3/8
R1/2

R1/2

R1/4
R1/4
R3/8
R3/8
R1/2

R1/2

10

R1/8

TER 6L X 1/8
TER 8L X 1/4
TER 10L X 1/4
TER 12L X 3/8
TER 15L X 1/2

TER 18L X 1/2

TER 6S X 1/4
TER 8S X1/4
TER 10S X 3/8
TER 12S X 3/8
TER 14S X 1/2

TER 16S X 1/2

R Part No.

LER 6L X 1/8

14
14
15
16

16

14
14
15
15
16

16

R1/4
R1/4
R3/8
R1/2

R1/2

R1/4
R1/4
R3/8
R3/8
R1/2

R1/2

LER 8L X 1/4
LER 10L X 1/4
LER 12L X 3/8
LER 15L X 1/2

LER 18L X 1/2

LER 6S X 1/4
LER 8SX1/4
LER 10S X 3/8
LER 12S X 3/8
LER 14S X 1/2

LER 16S X 1/2

* Dimension given are approximate figures with tightened nut.

Final_ Proof....

website : jacktechhyd.com E-mail : info@jacktechhyd.com, sales@jacktechhyd.com

12



SWIVEL COUPLINGS
SWIVEL ELBOW COUPLING

Series  Tube
O.D.
Light 6
L 8
250 10
bar 12
15
160 18
bar 22
100 28
bar 35
42
Heavy 6
S 8
630 10
bar 12
14
400 16
bar 20
25
250 30
bar 38
SWIVEL
Series Tube
OD.
Light 6
L 8
250 10
bar 12
15
160 18
bar 22
100 28
bar 35
42
Heavy 6
S 8
630 10
bar 12
14
400 16
bar 20
25
250 30
bar 38

S2

14
17
19
22
27

32
36

41
50
60

17
19
22
24
27

30
36
46

50
60

S3

12
14
17
19
22

27
30

36
46
55

14
17
19
22
22

24
30
36

46
55

Thd.
Size

M12x1.5
M14x1.5
M16x1.5
M18x1.5
M22x1.5

M26x1.5
M30x2

M36x2
M45x2
M52x2

M14x1.5
M16x1.5
M18x1.5
M20x1.5
M22x1.5

M24x1.5
M30x2
M36x2

M42x2
M52x2

27
29
30
32
36

40
44

47
56
63

31
32
34
38
40

43
48
54

62
72

ELBOW CONNECTOR

S2 S3 L2

14
17
19
22
27

32
36

M
50
60

17
19
22
24
27

30
36
46

50
60

12
14
17
19
22

27
30

36
46
55

14
17
19
22
22

24
30
36

46
55

*

27
29
30
32
36

40
44

47
56
63

31
32
34
38
40

43
48
54

62
72

12

27
29
30
32
36

40
44

47
56
63

16
17
175
215
22

245
26.5
30

355
41

13

345
375
40
43
47.5

50.5
555

61
72
79

40
44
47
50
55

56
65
735

80
935

L1

23
25
26
27
29

31
33

34
39
42

28
30
31
33
37

37
42
47

50
55

S1 d3x

14
19
19
22
27

27
32

M
50
55

19
19
22
22
27

27
32
a4

50
57

12
14
15
17
21

23.5
27.5

30.5
34.5
40

16
17
17.5
215
22

24.5
26.5
30

35.5
41

14
18
18
22
26

26
32

39
49
55

18
18
22
22
26

26
32
39

49
55

* Dimension given are approximate figures with tightened nut.

W JACKTECH HYDRAULICS

26
27
28.5
29
32

35
38

41.5
51
56

27
27
29.5
30.5
34.5

36
44
49.5

55
63

12
12
12
14

14
16

18
20
22

12
12
12
12
14

14
16
18

20

Part No.

EVW 6
EVW 8
EVW 10
EVW 12
EVW 15

EVW 18
EVW 22

EVW 28
EVW 35
EVW 42

EVW
EVW
EVW
EVW
EVW

EVW
EVW
EVW

EVW
EVW

Gl1/8
Gl/4
Gl/4
G3/8
Gl1/2

Gl1/2
G3/4

Gl
Gl1/4
G112

G1/4
G1/4
G3/8
G3/8
G112

G1/2
G3/4

G114
G112

I I N e e
nmw nuuoun Ouunuounw rccorCrCcrr

o O oo ~ANOOOD

w W

Part No.

EVWR 6SX1/8
EVWR 85X 1/4
EVWR 10S X 1/4
EVWR 12SX3/8
EVWR 155X 1/2

EVWR 185X 1/2
EVWR 22S X 3/4

EVWR 285SX1
EVWR 35S X11/4
EVWR 425 X11/2

EVWR 6SX1/4
EVWR 85X 1/4
EVWR 10SX3/8
EVWR 125X 3/8
EVWR 14SX1/2

EVWR 16SX1/2
EVWR 20S X 3/4
EVWR 255X1

EVWR 30S X11/4
EVWR 38S5X11/2

15

S2

N —
TUBE OD|

s2/

L2

S2

S

]
w
N

G
\
)

L
TUBE 0D

L1

©in

d3e

14

Final_ Proof....

website : jacktechhyd.com E-mail : info@jacktechhyd.com, sales@jacktechhyd.com



SWIVEL COUPLINGS
SWIVEL RUN TEE COUPLING

Series Tube S2 S3 M L2 12 L5 15 Part No.
O.D. * *
Light 6 14 12 M12x1.5 27 12 53 26 EVL 06 L
L 8 17 14 M14x1.5 29 14 56 27 EVL 08 L
250 10 19 17 M16x1.5 30 15 59 285 EVL 10L
bar 12 22 19 M18x1.5 32 17 61 29 EVL 12 L
15 27 22 M22x1.5 36 21 68 32 EVL 15 L
160 18 32 27 M26x1.5 40 23.5 75 35 EVL 18 L
bar 22 36 30 M30x2 44 27.5 82 38 EVL 22 L
100 28 41 36 M36x2 47 30.5 89 415 EVL 28L
bar 35 50 46 M45x2 56 34.5 107 51 EVL 35 L
42 60 55 M52x2 63 40 119 56 EVL 42 L
M
Heavy 6 17 14 M14x1.5 31 16 58 27 EVL 06 S
S 8 19 17 M1exl5 32 17 59 27 EVL08S ‘ ’ .
630 10 22 19 M18x1.5 34 17.5 64 295 EVL10S C
bar 12 24 22 M20x1.5 38 21.5 69 305 EVL 12S g\
14 27 22 M22x1.5 40 22 75 345 EVL 14 S o > A )j
400 16 30 24 M24x1.5 43 24.5 79 36 EVL 16 S - 1) E
bar 20 36 30 M30x2 48 26.5 92 44 EVL 20 S o
25 46 36 M36x2 54 30 104 495 EVL 25S - L ’
250 30 50 46 M42x2 62 35,5 117 55 EVL 30 S J
bar 38 60 55  M52x2 72 41 135 63 EVL38S $2 12 =
SWIVEL RUN TEE CONNECTOR
Series Tube S2 S3 L2 12 13 L1 S1 d3z | G Part No.
O.D. *
Light 6 14 12 27 12 345 23 14 14 8 G18 EVLR 6L X 1/8
L 8 17 14 19 14 375 25 19 18 12 Gl/4 EVLR 8L X1/4
250 10 19 17 22 15 40 26 19 18 12 Gl/4 EVLR 10L X 1/4
bar 12 22 19 24 17 43 27 22 22 12 G3/8 EVLR 12L X 3/8
15 27 22 27 21 475 29 27 26 14 G1/2 EVLR 15L X 1/2
160 18 32 27 32 235 505 31 27 26 14 G1/2 EVLR 18L X 1/2
bar 22 36 30 36 275 555 33 32 32 16 G3/4 EVLR 22L X 3/4
100 28 41 36 47 305 61 34 41 39 18 G1 EVLR28L X 1 L2
bar 35 50 46 56 345 72 39 50 49 20 G11/4 EVLR35LX11/4 12
42 60 55 40 40 79 42 55 55 22 G11/2 EVLR42LX11/2 )
Heavy 6 17 14 31 16 40 28 19 18 12 G1/4 EVLR 6SX1/4 H ] 52
S 8 19 17 32 17 44 30 19 18 12 G1/4 EVLR 85X1/4 sz 1 : Z/
630 10 22 19 34 175 47 31 22 22 12 G3/8 EVLRI10SX3/8 TN - )E
bar 12 24 22 38 215 50 33 22 22 12 G3/8 EVLR12SX3/8 T3 7 E
14 27 22 40 22 55 37 27 26 14 G122 EVLR 14S X 1/2 s2 il —
400 16 30 24 43 245 56 37 27 26 14 G122 EVLR 16S X 1/2 2
bar 20 36 30 48 265 65 42 32 32 16 G3/4 EVLR20SX3/4 S1 pr
25 46 36 54 30 735 47 41 39 18 Gl EVLR 255X 1 ©iD
250 30 50 46 62 355 80 50 50 49 20 G11/4 EVLR30SX11/4 JER B
38 60 55 72 41 935 55 55 55 22 G11/2 EVLR38SX11/2 d‘;m
* Dimension given are approximate figures with tightened nut.
W JACKTECH HYDRAULICS
16

website : jacktechhyd.com E-mail : info@jacktechhyd.com, sales@jacktechhyd.com

Final_ Proof....



REDUCING STANDPIPE (Light Series L)

STANDPIPES

Nom. Tube O.D. Thd. L 15 S1 S2 PartNo.
Pr. D1 D2 Size *
bar dl
250 8 6 M14X1.5 38 235 17 14 KOR 8L X06L
10 6 M16X1.5 38 235 19 14 KOR 10L X 06L
10 8 Mi16X1.5 38 235 19 17 KOR 10L X 08L
250 12 6 M18X1.5 38 235 22 14 KOR 12L X 06L :

12 8 M18X1.5 38 235 22 17 KOR 12L X 08L
12 10 M18X1.5 39 245 22 19 KOR12L X 10L

250 15 6 M22X1.5 38 235 27 14 KOR 15L X 06L
15 8 M22X1.5 38 235 27 17 KOR 15L X 08L
15 10 M22X1.5 39 245 27 19 KOR15L X 10L
15 12 M22X1.5 39 245 27 22 KORI15L X 12L

160 18 6 M26X1.5 39 245 32 14 KOR 18L X 06L
18 8 M26X1.5 39 245 32 17 KOR 18L X 08L
18 10 M26X1.5 40 25.5 32 19 KOR18L X 10L
18 12 M26X1.5 40 25.5 32 22 KORI18L X 12L
18 15 M26X1.5 42 26.5 32 27 KOR18L X15L

160 22 6  M30X2 40 255 36 14 KOR 22L X 06L
22 8  M30X2 40 25.5 36 17 KOR 22L X 08L

22 10 M30X2 41 265 36 19 KOR22LX10L Fenstoled
22 12 M30X2 41 265 36 22 KOR22LX12L for exit cone ST Commection
22 15 M30X2 43 275 36 27 KOR22LX15L / S2 for reduced line
22 18 M30X2 43 27 36 32 KOR22LX18L v

100 28 6 M3X2 41 265 41 14 KOR28LXO06L ol gLl _ _'“?'_'_':P_._..Ig o J
28 8 M36X2 41 265 41 17 KOR28LXx08L | | |
28 10 M36X2 42 275 41 19 KOR 28L X 10L
28 12 M36X2 42 275 41 22 KOR28LX12L
28 15 M36X2 44 285 41 27 KOR28L X 15L 15
28 18 M36X2 44 28 41 32 KOR28LX18L L
28 22 M36X2 46 30 41 36 KOR28LX22L

100 35 6 M45X2 46 315 50 14 KOR 35L X 06L
35 8 M45X2 46 315 50 17 KOR 35L X 08L
35 10 M45X2 47 325 50 19 KOR35L X 10L
35 12 M45X2 47 325 50 22 KORB35LX12L
35 15 M45X2 49 325 50 27 KOR35LX15L
35 18 M45X2 49 33 50 32 KORG35LX18L
35 22 M45X2 41 35 50 36 KORB35LX22L
35 28 M45X2 52 35 50 41 KOR35LX28L

100 42 10 M52X2 48 335 60 19 KOR42LX10L
42 12 M52X2 48 335 60 22 KOR42LX12L
42 15 M52X2 50 345 60 27 KOR42LX15L
42 18 M52X2 50 34 60 32 KOR42LX18L
42 22 M52X2 52 36 60 36 KORA42LX22L
42 28 M52X2 53 36 60 41 KOR42LX28L
42 35 M52X2 57 35 60 50 KOR42L X 35L

* Dimension given are approximate figures with tightened nut.
@)- JACKTECH HYDRAWLICS
18

website : jacktechhyd.com E-mail : info@jacktechhyd.com, sales@jacktechhyd.com

Final_ Proof....



MALE / FEMALE REDUCING THREAD ADAPTORS

REDUCERS
Nom. Male Female
Pr. Stud Thread
G Gl
630 G3/8 G1/8
bar G1/2 G1/4
G3/4 G1/4
G3/4 G3/8
400 G1 G1l/4
bar Gl G3/8
G1 G1/2
Gl1/4 G1/2
250 G11/4 G3/4
bar G11/2 G1/2
G11/2 G3/4
G11/2 G1
G2 G1
G2 G1l1/4
G212 G112
Nom. Male Female
Pr. Stud Thread
bar G Gl
630 G1/8 G1/4
bar G1/8 G3/8
G1/4 G1/8
630 G1/4 G3/8
bar G1l/4 G1/2
G1/4 G3/4
630 G3/8 G1/4
630 G3/8 G1/2
400 G3/8 G3/4
630 G1/2 G3/8
400 G1/2 G3/4
400 G1/2 G1
250 G1/2 G11/4
400 G3/4 G1/2
400 G3/4 G1
250 G3/4 G11/4
250 G3/4 G11/2
400 G1 G3/4
250 G1 Gl1/4
250 G1 G11/2
250 Gl1/4 G1
bar Gl1/4 G11/2
Gl11/2 G11/4
250 G2 G11/2
G21/2 G2

L

22.5
24

26
26

29
29
29

32
32

36
36
36
44
44
48

L

31
32

28
36
40
43

36
41
44

36
46
49
53

41
51
55
57

47
57
59

52
60

58
62
66

12
14

16
16

18
18
18

20
20

22
22
22
24
24
26

8
8

12
12
12
12

12
12
12

14
14
14
14

16
16
16
16

18
18
18

20
20

22
24
26

W JACKTECH HYDRAULICS

S1

19
24

19
24
30
36

22
30
36

27
36
41
55

32
41
55
60

41
55
60

50
60

55
70
85

S1 d3z t3 Part No.

22
27

32
32

41
41
41

50
50

55
55
55
70
70
85

D

0 0o O oloal

12
12
10

16
16
16
16

20
20
20

32
40
55

22 10 RI3/8M X 1/8 F
26 12 RI1/2MX1/4F

32 12 RI3/4M X 1/4 F
32 12 RI3/4M X 3/8 F

39 12 RITMX1/4F

G
39 12 RI1LMX3/8F /
39 14 RI1IMX1/2F o
49 14 RI11AMX12F N I I
49 16 RI114MX3/4F a T—— _
55 14 RI112MX1/2F T | P
55 16 RI11/2MX3/4F Lt
55 18 RI112MX1/2F G
69 245 RI2MX1F
69 26.5 RI2MX11/4F d3e

84 285 RI21/2 MX11/2F

d3x t2 Part No.

14 17 RI1/8M X 1/4 F
14 17 RI1/8 M X 3/8 F

18 12 RI1/4AM X 1/8 F
18 17 RI1/4M X 3/8 F
18 20 RI1/AMX1/2 F
18 22 RI1/4M X 3/4 F

22 17 RI3/8M X 1/4 F
22 20 RI3/8M X 1/2 F
22 22 RI3/8 M X 3/4 F

26 17 RI1/2M X 3/8 F
26 22 RI1/2M X 3/4 F

26 245 RIL2MX1F
26 265 RI2MX11/4F M

32 20 RI3/4AMX1/12F

32 245 RI34AMX1F

32 265 RI3AMXL1/4F
32 285 RI34AMXI11/2F

39 22 RITMX3/4F
39 265 RI1IMX11/4F

39 285 RI1IMX11/2F

49 245 RI114MX1F
49 285 RI11/4MX11/2F

55 265 RI112MX11/4F
69 285 RI2MX11/22F
84 30 RI21/2 MX2F

website : jacktechhyd.com E-mail : info@jacktechhyd.com, sales@jacktechhyd.com

Final_ Proof....

20




PRESSURE GAUGE COUPLING

series Tube Female S1 S2 L1
oD Thread
L 6 1/8 17 14 36
Light 6 1/4 19 14 38
8 1/4 19 17 38
NP 250 8 3/8 22 17 38
10 3/8 22 19 395
10 1/2 27 19 405
12 3/8 22 22 395
12 1/2 27 22 405
S 6 1/4 19 17 40
6 3/8 22 17 42
Havey 8 1/4 19 19 40
seires 8 3/8 22 19 42
8 1/2 27 19 45
NP 630 10 1/4 19 22 40
10 3/8 22 22 42
10 1/2 27 22 45
12 1/4 19 24 40
12 3/8 22 24 40
12 1/2 27 24 45
SEALS |
———
L d i
D)
THREADS COPPER WASHERS
B.S.P Metric d D T
1/8" M10 9.9 13.8 1.5
M12
1/4" M14 13.8 18 1.5
M16
3/8" 17 21.5 1.5
M18
M20
1/2" M22 21.2 25.8 1.5
5/8" M24 23.4 28 1.8
M26
3/4" 26.8 33.3 1.5
718" M30
1" 33 39.1 2
M36
11/4" M42 42.3 48.3 2
11/2" M48 48.7 55 2
2" M60 60.2 69.7 1.3
21/2" 75.5 83.8 1.3

t3 h3 d5 PartNo.
11 3 3 MAV 6L x 1/8
13 4 3.5 MAV 6Lx1/4
13 4 3.5 MAV 8Lx1/4
15 4 45 MAV 8Lx3/8
15 4 45 MAV10Lx3/8
19 5 55 MAVI10Lx1/2
15 4 45 MAV12Lx3/8
19 5 55 MAV12Lx1/2
13 4 3.5 MAV 6Sx1/4
15 4 45 MAV 6Sx3/8
13 4 3.5 MAV 8Sx1/4
15 4 45 MAV 8Sx3/8
19 5 55 MAV 8Sx1/2
13 4 35 MAV10Sx1/4
15 4 45 MAV10Sx3/8
19 5 55 MAV10Sx1/2
13 4 3.5 MAV12Sx1/4
13 4 45 MAV12Sx3/8
19 5 55 MAV12Sx1/2

'
‘L d i
D

DOWTY SEALS

Part No. d D

11.6 17.3

13.7 22

14 20.6

16.7 24

17.5 23.7

18.7 26

20.7 28

21.5 28.5

24.7 31

26.7 35

27.7 34.8

31 38.3

33.5 42.8

36.7 46

43.3 52.3

48.6 58.3

60.8 76.8

76.08 90.3

For Ordering specify size e.g. DS M10 or DS 1/8"

W JACKTECH HYDRAULICS

T

3.2
3.2
3.9
3.9
3.6
3.6
3.6
3.6
3.6
3.6
4.2

4.8
4.8
4.8
4.8
6.2
6.2

Part No.

Final_ Proof....

22

website : jacktechhyd.com E-mail : info@jacktechhyd.com, sales@jacktechhyd.com




